[ number of missing inner layers |

1e Entries 69
E Mean 0
r Std Dev 0
L[ —— [
107 Entries 68
E Mean 0
o Std Dev 0
-2 teiiitii.ii.... 1
10 E Entries 72
E Mean 0
I Std Dev 0
10°F Emm
o Entries 70
r Mean 0
_4 Std Dev 0
10 SR e R e S S R i
E Entries 71
- Mean 0
-5 Std Dev 0
10°F :
E : I
E Entries 71
I Mean 0
01059 A FEST FRERY FRwEY
T
o
1.
0,95
0 05 1 15 2 25 3 35 4 45 5

[ number of missing outer layers |

1 - - Entries 69
E : : Mean 0.2174
r - Std Dev 0.634
L P T |
107 T Entries 68
F : : Mean 0.2794
L H N Std Dev 0.783
2L pry oy SN R 1
10 E Entries 72
F ' ' Mean 0.3333
B . . Std Dev 0.9428
10°F S I IR 1
o : : Entries 70
r N N Mean
N N Std Dev
_4 . H
107F i :
E Entries
L . . Mean
-5 . - «. .| Std Dev
107F H y
E Entries 71
I : : Mean 0.2676
01059,,,, e ||||||llln:ld|31||llllldbiddfl
T A : :
o L .
i i LRl R R i [ e e
0.95 e
0 1 2 3 4 5 6 7 8 9 10

—— :5 RO UFlJ PIOEP POt
— o] are are e
mean ] — BaNE e e =
j— —b ateCutChisSduare30—Step2—]
= 40 Entries 69
1) ..| Mean 17.28
> - -| Std Dev 4.032
A 35 R S|
& "7 Entries 68
= 1 Mean 17.18
v 30 Std Dev 4
N
Entries 72
Mean 16.89
25 Std Dev 4.108
: |
Entries 70
20 Mean 17.07
Std Dev 4.061
: |
15 Entries 71
..] Mean 17.03
+]- - -| Std Dev 4.049
10 R T i
7 Entries 71
1 Mean 17.1
o PR 1 ged o Ly igae]
o+ o Ll L
IS IS [ 11+ :
o o o .
1.1 Ao
1 o :
i - T .
0.95 2 3 : :
= 3 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
- Entries 9284 1e Entries 75
' Mean 0.55 E Mean 0.7242
. Std Dev 0.2556 r Std Dev 0.207
: - e - I
: Entries 9294 lo E Entries 74
: Mean 0.5501 F : Mean 0.7217
N Std Dev 0.2557 - . Std Dev 0.2075
. B )| 2 Y I e iiiiiiiao: ]
Entries 9284 10 E Entrie 79
: Mean 0.55 o : Mean 0.7129
. Std Dev 0.2557 3 B :
: : 10°E - !
: Entries 9294 o . Entries 76
N Mean 0.55 r Mean 0.73
CY R P, F Std Dev 0.2557 il 2111
10 E : y I 107 3|
C Entries 9294 - Entries 7
- Mean 0.55 o Mean 0.7229
Std Dev 0.2557 -5 I Std Dev 0.2179
- | 10°E - |
Entries 9304 E Entries 77
Mea'l'] 0.550} 6 B MEa'I'] 0.717‘
° PV IR 01078k Sguder 11 wiagal)
= : = L T :
© . © L .
o H o 3 :
......................... e 1.5 Smemsssesesesecsisimesisacaosons
: 1 R
3 = 3
10° 10 107t 10° 10
TP p. track p_



	Contents
	Page 1


